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oooo NB. Kanaya p.7
KD KX=:5.6 5.8 6.0 6.2 6.4 6.4 6.4 6.6 6.8
KY=: 30 26 33 31 33 35 37 36 33
5.6 30 KD=: KX, .KY
5.8 26
6 33
6.2 31
6.4 33
6.4 35
6.4 37
6.6 36
6.8 33
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+/KD NB. sum
56.2 294
§ KD NB. size of matrix
9 2
# KD NB. number
1.1.1 O

ooboooooooooboocoobooooonon

load ’plot’
’symbol’ plot {|: KD
pd ’eps temp\kanaya_0.eps’
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Jogood
+/ > 00
{ catalogue boxO OO
| : transpose gooo
NB. notebote a0
$ Shapel 0000000000 (QOOOO0OO)
# Tally-00O noonO
plot googoono

simbol goboooboobgoon
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1.2 OODOOO

1.21 OO

gogboobboobuooboobbooboobboooba

oo oo Script Example

ooono %z{‘:lxi
am=: +/ % # Ja=: >: 1.10
123456738910
am2=: # %~ +/
am a
5.5

oooo | "W, X gma
gm=: # %: */ 452873

n
gobogboooboo

gooo

Zinzlxii hm=: am &.(%"_) 0oooooQ
hm a
3.41417
common cma
mean cm=:[: {.(am,gm)":_ 5.00257
Jooooa
i. oodU0O0OoOUOoOoOoOoOoooO
> 10000
X goo
% + ggono
square 20
%: square— root 000
{. From ooooobooobooooo
infinity ooo
- child oobooooogn
"1 Rank dodooooogg
T power ooooogd

&. under oog
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Working Example 00000000000
qtr_grow 1 1.02 NB. 1 (space) 1.02
8.24322

0o000.1.000 102000000000 8.2%

Script
gtr_grow=: 3 : ‘100 * <: "&4 %/|. y.’
NB. e.g. u. 1 1.02

NB. exchange rate of growth from quarter to year

oooon
1.00(00)000O00OO (rotate].) 0O

%/1. 1 1.02
1.02

2.1000 (<:01000)

<: "&4 %/1. 1 1.02
0.0824322

3.100000 (xtimeg

100 * <: "&4 %/|. 1 1.02
8.24322

124 0000O0OOOOOOO

ooboooooooooboooboooooooa
000 %0000000

oooooo “\/X;:”—lxloo

Working Example
5 grow_ave 504827 539160 NB. GDP 1995/2000
1.32463 0000 1.32%0

10 grow_ave 469567 539160 NB. GDP 1990/2000
1.39161 0000 (1.39%)
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Script
grow_ave=: 4 : 100 * <: (x. %: %/ |. y.)’

ooood
lL.Ooooooooooooo

%/ |. 504827 539160 NB. GDP 1995/2000
1.06801

2.500000

5%: %/ |. 504827 539160 NB. GDP 1995/2000
1.01325

3.100000

100* 5 %: %/ |. 504827 539160 NB. GDP 1995/2000
101.325

125 O000O0OOOOODOOO

goboooooooooboooobooooboooooooooood

Working Example D0 0 00 00O
a=:1.25 1.4 1.07143 1.06667 1.125

gm a
1.17608

126 0OOOO

Working Example 0 0 O O
OO0 kmOOOOOOOOOO kmOOOODO kmOOOOOOO0 kmOOOoOOQ km
00000000 kmOOO kmOODOOO0OOOO0OO0OO0OOOOOO

hm 30 40 60
40

3% +/ 1r30 1r40 1re0
40
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[. Rotate O00OO0O0OO0O0OO0OOOODOODOODOOOOO

/ Insert 0000 (oo0)obooooooooo

<: Decriment 100

& ooo 0000oooooooo(@o)yooo

r oo 1r3D}
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sample dat@l isijs/data/s.dataijs/L_1

131 00000000

ooooooooooooo

200000 1000 0000==—

DDDDDDIZII:IDDDDD%)DDDDDDDDDDDDDDDDDDDDDDDDDD
0300000000000 000oOoO0oUooOO00OOO0DDODOoODOOOO
cooboooooooooooooo

Wi

oo
: 2 Pt0o
Laspiress =
2 Podo
Parshe 2 PG
2. PGk
Fischer m X M
2 Po% ¥ Podo
a aog ood
INDEX Price guantity price quantity
PO Qo0 P1 Q1
ooo 75 50 85 48
ooo 60 70 55 72
DO
75 50 85 48
60 70 55 72
Las: Par: Fis:
101.887 101.515 101.701
T1
Fm————— Fm———— +

| 75 50|60 70| NB.
| 85 48|55 72| NB.
| 95 46|52 75| NB.
|105 44|48 80| NB.

+-————- +-——-

-+

1sp_chain® T1

goo
o110
020
O30
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010 000000

1 1.01887 1.05535 1.08302 NB. OO O 10 020 O30

par_chain® T1
1 1.01515 1.04025 1.04444

fis_chain® T1
1 1.01701 1.04777 1.06356

0(@oO0oU0oO0o0o0o0o0oooU0o0oooUooDooUooooUoOon)

1.3.2 Script

lsp_chain®=: 3 : 0

TMP1=:({. "1 L:® ,.y. ) */ L:® }.@{. L:0 ,. vy.
TMP2=:(;{. TMP1) + ;{: TMP1

; TMP2 %/ {. TMP2

)

par_chain®=: 3 : 0

TMP10=:(}."1 L:® y. ) */ L:0 {.@{. L:0 y.
TMP11=:;(;{. TMP1®) + ;{: TMP10

TMP20=: */"1 L:0 y.

TMP21=:; (;{. TMP20) + ;{: TMP20

,TMP21 % TMP11

)

fis_chain®=: 3 : ’%: (par_chain® y.)* lsp_chain® y.’

JOoOoooo
n { (or n&{) Take O0o0oooooooooooo
’Las’ Character ooog
12.5 ": Format DDDDDDDDD(lZDDDD 5I])
1.3.3 0000
oooo am an? ami10
oooo gm gmi.10

ooogo hm hmi.10
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O0oooooo | gtrgrow gtr_grow 1 1.02

ooo grow_ave 5 grow_ave504827 539160
goodoogo

oooooooo | Isp Ispy.
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gogbooobobooboobobooboobobooboobbooboobboobo
gboooooogo

X—X
gooo _— gooooooooooo

J%zu-@Z oooo

KXODODODODOOO em
Ky Ooooo (%)0o00 KD stand KD
0o 5.6 30 _1.7781 _0.843274
5.8 26 _1.22628 _2.10819
6 33 _0.674453 0.105409
6.2 31 _0.122628 _0.527046
6.4 33 0.429198 0.105409
6.4 35 0.429198 0.737865
6.4 37 0.429198 1.37032
6.6 36 0.981023  1.05409
6.8 33 1.53285 0.105409

gogbooobobooboobobooboobobooboobbooboobboobo
gbooooooooboboboboooog
gboboobooooooooobobobobooboood™

plot |: stand KD
pd ’eps temp\kanaya_02.eps’

Script
stand=: dev % "1 sd

dev=: -"1(+/ % #)
sd=. %:@var

var=: # %~ ([:+/[: *: dev)
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012 0DO0O0O0D(@O)oooDoOo

Jooooo
*1 sqxuare 20 ("2000)
%: sqxuareoot 200 ()
=-"1(+/%#) X=X oo
[: Cap gooooooooooon

142 OO0O0O0O

ooooo - (/%) 000000000000000000

X—X 000000000000000000
000000000000@O000
oon)

143 00O

oboboooooobooboobobobooooooboboboboboooobooo
gdddoooooooooooooooooboooooooooobbobbbbo
0000 ed0000000O0OO0ODOOOllgD INODOOOOOJOODOOO . 00O
gobgooboobbooboobbooboobbooboobboobo

".100

" 4.60517

" 4.60517
100
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010 000000

aoood
=X 1x1 “. KD
logx =y 2.71828 1.72277 3.4012
J0 1x10 e0 000 1.75786 3.2581
000000000 1.79176 3.49651
1.82455 3.43399
1.8563 3.49651
1.8563 3.55535
1.8563 3.61092
1.88707 3.58352
1.91692 3.49651
JODOoOoOOo
. naturellog OOOO-00000 10 ©. 100 is 2
- e’ " 4.60517 is 100
1x1 e efdoOOO
gooooon

oobooooooboooobooobooooooooobo0oooooooooOooonn
00000000000 John Napie(l550-1617) 00 0000000000000 0O0O
000 16140000000000000000D0OOOOO0ODOOODOODOOOOOOO
coboO0obO0ooodoboboOoboboceg0bOOoObDOOOOOOODOOODOOODOOOO
oooobooooobooooooooooboooooboboooon

15 00O0oooooon

gogboodooboboobuoobboobobooboobboobuoobbooboo

151 000000

goboobbooboobbooboobobooboobboon
gboboooooooboboboooo
O

oooo i:%z{‘zlxi
0000 | Y(x-x)? ss=: [: +/ (¥:@dev)
oo
mean=: +/ % # NB. am

dev=: - mean




15 00oooooooo

X — X)2
oo Zl—ﬁ—]— var=:ssk#
Variance
X — X)2

oooo \/¥ sd=: %:&(ss%#)
Standard

deviation

sd
oooo X vr=: sd % mean

oono oopoooooa
ooono cov=: # %~ ([: +/ [ */"1 dev)

§2(x=Xy-Y)

dev=: -"1(+/ % #)
cov=:# % ([: +/ [:*/ "1 (-"1(+/ % #)))
aoooo)

152 O000000OOOO0ODOO

gobooooobooooboooooooooooobo0oooooooooooonn
V(X1+X2+~-+Xn)=2in:1V(Xi+Zzi¢jCOV(Xi,Xj)

Sxx Sxy Sxz
V=| S, S,y Sy
Szx Szy Sz
Xy
x1 yl
X2 y2
x3 y3
x4 ya
X=X Y-y
szzzl[mfi'&-i - m—i] X=X Y-y
N N{yi-y %-y .. o=V )| %=X yB-y
X =X Yn—Y
oo ooo

l[ (X2 = X)X =X) (X = X)(Yn = Y) ]:( xQ
"L =D =% G- N - ) 000 0000

N——

Working Example
vartable s_1

50 27.5 17.5 42.5
27.5 30 15 25
17.5 15 30 10
42.5 25 10 50
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goboboobobooboboo

goobgoooo

s_1 NB.(1) dev2 s_1 NB. (2)

145 30 60 70 _10 _10 _10 _10

145 35 70 75 _10 _5 0 _5

150 35 65 80 5 5 5 0

150 40 70 70 5 0 0_10

155 40 75 75 0 0 5 _5

155 45 70 80 O 5 0 ©

160 40 80 85 5 0 10 5

160 50 70 90 5 10 0 10

165 40 65 90 109 060 _5 10

165 45 75 85 5 5 5
oooo nO0O0O00On=10

(Cl: dev2 s_1) +/ . *

(]: dev2 s_1) +/ . * (dev2 s_1)) % # s_1 NB. (4)

(dev2 s_1) NB. (3)

500 275 175 425
275 300 150 250
175 150 300 100
425 250 100 500

50 27.5 17.5 42.5

27.5 30 15
17.5 15 30
42.5 25 10

25
10
50

Script
vartable=:# %~

Jogooog
+/ . 0*

| :@dev2 +/ .* dev2

ud

| : Transpose OO -000000O

153 000000000

oobooooooooboocooobobooobooooooooon

1 Fxy TIxz
R=| ryx 1 1y
Fx Iy 1
_ (xy
Pxy = iy

XYooooad = -
PXE TN - WY

CoUX,Y)
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Working Example
cortable s_1
1 0.710047 0.451848 0.85
0.710047 1 0.5 0.645497
0.451848 0.5 1 0.258199
0.85 0.645497 0.258199 1
Script
cortable
3:0
NB. dev2=. -"1 mean=:(+/ % #)
ss=. [: +/ [: *: dev2
sd=. %:&(ss%#)
stand=. dev2@] %"1 sd@]
cor=. #@] %~ (|:@stand@] +/ . * stand@])
cor vy.
)
JOoOO0Oo
@ Atop 00ooooooooooooooo

-"1(+/%#) -"lishook 000000 0OOOOOOOOOO

154 0OO0O0O0OO

ooooo,000o0obooc0o0oboocooooooo,oooocooobooboooooooo

ggbodb,o0bbooboobooobooboooboo

oooooooooo,0oooo0oooooooo —pooooood

D000 R=[ry]

ROOODO Rt OOOO ri
—r'l

G

fijo =

000 X0 X0O0O0OoOooooooooooooooooooooooooooo

coobooooboboobobooooooooboooooooa

D000 R=ry]
ROOODORYOooOoOO
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il

Vripii

fijo =

(000D 500)00 | 0000
0000000000

ooooo

a3 0oog cortable a3
1 0.967571 0.997407
00 00 Ooooo | 0.967571 1 0.976533
198005 2854 17662 | 0©.997407 0.976533 1

254020 5880 24208
290237 11995 30538
348839 19605 36568
452356 23490 48113

pcor_table cortable a3
1 _0.414878 0.965817
_0.414878 1 0.631025
0.965817 0.631025 1

O00O0oooooooo 0.63

155 0000

nﬂhV<wx>:J@+@+m+@DDDDDDDDD(mmDDDD
000200000 100000000000000000 (Euclid0000000

googn

gooo

norm=: [: %: [: +/ * 1

gd
The length(or norm)o¥ is the nonnegative scalgw ||

| Xll= W-V= X+ + ...+ X3

IvIP=v-v

X =yll= V0= y1)? + (2 = y2)? - -~ (%0 — Yn)?
o000 PQODOOODOOOOO

Example

v=1-220
lvi= /(120 —220 220 0)= V9
1

U=
vl

euc_norm 1 _2 2 0
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010 000000

0.333333 _0.666667 0.666667 0

Script
norm=: [: %: [: +/ *:
euc_norm=: y. % norm y.’
156 OOO0O
ooo stand stand y
gooo 0O mean
00 $dev
gog var
OooO0 sd
goog vr
god cov
O00oooo | vartable vartable y
a
oooo cortable cortable y
ooooo pcor_table pcor_table cortable y
000000 | euchorm euchormy.
aoo

1.5.7 Reference

ooooooooboooobooooooooooooonon

00000000000 0000000000000 0oooooOoOO 1985

0000 0oDoDOoO0o0O0OD0OO0O0ODOOOO OOOO 2003
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300ddodo-uoooood

2.1 Matrix divide

0000000000000000 (ARO)0DDO0OO0O0D0DO00ODOO0O0DOO0ODOO0O0 300
gboooooooobobobooo

00000000 % 000000000000000 matrix—DivideOOOOOO
goboobooboboobooboboooboo

ooo
ooog regx=: 3 : "({:""1ly.)%. 1,.}:"1vy.’
oLS

goo
Polinominall polyl=:4 : ’y. %. (:i. # y.)"/i. >: x.

oood
AR ar0=:4 : *(x.}.tmp) %.|.("D}: >x.<\ tmp=:y.-(+/%#)y.’
211 000

AA"=100000000000001000000000
oobooOooooooobooobooooooOooooobooOobobooooooooon

N
Bow N
W Rk e
o o
o r O
» O O

25
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020 30000000-000000

Jooooo
d=.33%$2121311JOo0000000O godddooooooo
13
%. d gaussj d,.=/"i.3
0.8 _0.1 _0.5 100 0.8 _0.1_0.5
d _0.2 0.4 0 01060 _0.2 0.4 0
212 _0.2 _0.1 0.5 001 _0.2_0.1 0.5
131
113

00000000000000000000JO0 Matrix inverse Matriv dvidg%.) O
god

obobobooooobooooboboboooooobobobobbobooobooo
000o0oooo0ooooooooooooJooooooooooooooooog
obooooogoog

gogooo

oo0o0oo0oooooooo0ooo0ooo 400000000000 00D0DB00OO0
cooboodooboooobooooboooOoooOoocOoOobooOoobooOoobooOooOooooag
cooooooobooooboooobooooooboooobooobooboOoooboooooooag
O.00bboooboooooooooboooooooobooboooon

BC40000 00 300 x120 +500000000000000158200000000
0000000000000000000000000 Opoint0000000OO

BCieo0OO OO ODODO -000000DOOOO0DODOOOOODOOOODO

BC2000O DD OODOOOOOOOGOODOIDODOOODOOODOOOODODOOOODOO
coooboodooboooobooooooooobooooooOon

ooooboooooooOoboooooooobooOooOoooboobOooOooDoOoOoooDooboo
oooooooooooooDo

212 30000

oLsoooOoOooooon

B/ 1 X X1 o Xa
Yo 1 X2 X2 = Xe

L Yn | | 1 X Xen 0 Xkn |
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googoono

O0yOtOoOoOO0O koOoOoOoooooOoO

y = Coo + Cott + -+ - + Coth + €

oo ooooobobobobobbobbobbboboddoooooog o
goo

[(So Si o S| [ [T
St S22 -+ Sk a T
S Sz -+ Sk | =| T3
| SK SK+1 Szk | | Ck | L Tk i
ARO0O0O

MOOOOD AROOOOOODOOOOODOOOOOOOOODODOOOOODOoOOOooOon
goboobboobobooboobbooboobboo

[ Su Sz - Sw | [ b | [Ty
Si2 S22 -+ Sx by, T,
Si13 Sz -+ S by | =| Ts

| Sik Sk v+ S| Lbc L Tl

Srs = Zin:k+1 =t 'ti—s

Ti= 2l =t tir
Qu=To—(biT1+boTo+---+ T OOOOD

Mil = ~"=(10gQu/(n - k)

AIC=—2r>1< MLL +2x k= (n—-K) x (logQ/(n—-K)) + 2x k
AlCO0O0OO00OO00OO0O0OO kOOOoDOOOooOoOoOo

22 00000ODODOOOOOOO

00000000000000000000000000000000000
(X'X)B =Xy
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B=(XX) Xy
go0oooo0ooooooooooog
, ., Xy vy
XX)IXy=2-2L -2

XXXy = 2 = X

oobooooooboooobooooooooOooOoOoobOOo0oobooOoOooooOOoOoOoDnn
cooooooboooooboooobooooooooooboooboooooboooooooa
ooo

221 00O0OO0OO

Working Example

KXOOOOOOOO cm

KY DODODO (%) 00000
goboobboobuoobboooboobobooobomm

1 1 | L L L 1
5.6 5.8 6 6.2 6.4 6.6 6.8

021 0000O00ooO0ooO
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KY KX 1 KX (1K X)L
000000000 XO | 00000000
00100000

KX, .KY 1,.KX l: %. 1,.KX
5.6 30 15.6 3.51504 _0.545113
5.8 26 15.8 2.45865 _0.37594
6 33 1 6 1.40226 _0.206767

6.2 31 16.2 0.345865 _0.037594

6.4 33 16.4 _0.710526 0.131579

6.4 35 16.4 _0.710526 0.131579

6.4 37 16.4 _0.710526 0.131579

6.6 36 16.6 _1.76692 0.300752

6.8 33 16.8 _2.82331 0.469925

OO00000OOD KXOOooooooooooooooooooooooooooooo
gobogboooobooboooboobbooboboobbooboboobboooboo
0000000000000 K.E.lversonO matrix—divide(%.) 00000

y KY
X 1, KX .
000 %. 0000000 KY %. 1,.KX
oooon _5.01128 6.03383
y = -5.01128+ 6.0338%
yX1 KY +/.%(1,.KX)1
00o0o0ooooooon
KY +/ . * [+ %. 1,.KX
0ooooooooo
_5.01128 6.03383
2.2.2 Linefit

0000000000000 regexamadd re@0 0000000000

*1

reg® reg_exam_ad KD

+-—-m—- +----

____________ +

*1DDDDDDD(DD)DDDDDDDDD Jooooooo
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020 30000000-000000

| f= |_5.01128 6.03383]
+-——-—- tom - +
|corr=:147.8237 |
+-————- e e tatatal +
|AIC |18.8684 |
Fommm e o e +
DW= |2.17534 I
- - +
| t= [_0.33633 2.53299|
+-——-—- o +

0000000 o00oUooUoUooOooogoooogogoLso

linefit_reg KD (KD=: KX, .KY)

223 0O0O0O0OOO

goooobodooooooobodooooobbodoooooobobooooooo
ooooooooooogooo
Warking Example 00000000 (1969-1994)

OO0000D0D0D0O0OD0OOO0OOOEXCELODO OLEODOOOOO
ooo

load getexcel.ijs

getexcel ”

e0=. datain11416

regO linefiteg231"1e0

=== Population o /

151 1IPX A
== Electric

L L L L | L L L L
55 60 65 70 75 80 85 90 95

022 000000 O00O00O0OO0ODOOOOO0O OO0
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yOoo

X, 00

x 0000000
00000

regd 2 3 1{"1 e0®
_4766.04 5193.81 52.3253

f = -476604 + 519381x; + 523253,

6000 -

4000

2000

023 000000(@)0000 (@)

too
000000000000 000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0oooo
00000000000000000000000000 19080000000000
0000000000000000000000000
0000000000000000p0000000000000000000000
noooo o =Y

uvnOO0OOO0O0OO0000000000000000000000000000000
coooboooboooooooobooooobooooooooooooooooooan
goboooooooooboocooooooobooooon

regd reg_exam_ad 2 3 1{"1 e0
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020 30000000-000000

|corr=:197.9651

Fomm - e et +
|AIC: [478.907 |
- e e LT e e +
[DW=  |0.202234 [
+-mm—- e e L P e +
| t= [_2.01828 1.95848 5.00342]
+m— - e +

23 O00OOOOO

4 polyl s2

_2.01542 5.65633 _0.889141 0.0485201 _0.000848678

y = —2.01542+ 5.6563X — 0.88914 %2 + 0.048520%> — 0.00084867&"
000000000000000000000100000000000000

024 0000000000 (@)0000(0)40

X, .a X0 01230 goood
Xooooo
gooooo
010000
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20000 10| 000000000010 gooon
oooo oo0Doooooooooao
6.2": |: %. 1,.(>: i. # a)"/ >: 1.
oo 3000o0ooco012
1.60 _0.93 0.16 _0.01
] 300000000000
(:i. # a) 0.27 0.08 _0.04 0.00
oono
,.a _0.40 0.53 _0.12 0.01
1 6 C:i. #a)’/ i. >: 3 _0.57 0.57 _0.11 0.01
2 3 1 1 1 _0.40 0.34 _0.05 0.00
3 19 1 2 4 8 _0.07 0.00 0.02 0.00
4 15 1 3 27 0.27 _0.32 0.09 _0.01
510 1 4 16 64 0.43 _0.45 0.11 _0.01
6 14 1 5 25 125 0.27 _0.25 0.05 0.00
7 0 1 6 36 216 _0.40 0.43 _0.11 0.01
8 1 7 49 343
9 12 1 8 64 512
10 17 1 9 81 729
110 100 1000
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4 poly® s2
_2.01542 5.65633 _0.889141 0.0485201 _0.000848678

f = -2.01542+ 5.65633_; — 0.889141_, — 0.0485201 3 — 0.000848678 4
OooO0oooooOoAICO0O0OoDOoOoooo
0000 30000000000000000000D0400 AICOOOOODOO

3 poly_exam S1
co. of det.(%): 39.09
value of AIC : 53.52
Value of MLE: 4.896 1.133 _0.141 0.004

4 poly_exam S1
co. of det.(%): 62.51
value of AIC : 43.38
Value of MLE: _2.015 5.656 _0.889 0.049 _0.001

5 poly_exam S1
co. of det.(%): 62.51
value of AIC : 45.38
Value of MLE: _1.936 5.585 _0.871 0.047 _0.001 0.000

linefitpot DO OODO0ODOOO0OOOOO

4 linefit_poly S1
pd ’eps temp\poly_0.eps’

24 000O0ODOOO AR

Oooooo0 (AR -Auto Regressive Model) DO O O0O0O0OO0OOOO0OO0OO0O0O0OOO
Jdoooooooooooooboboobboooobododoooooooooo

0000000000UoO0d Yull-WalkerO OBurkd OHouseholdetd DO OO 0O
000 OHouseholdef] 0000000000 Householdel OO0 OO0 0O0OO0OOO0OO
gobooboobobooboobobooobuoobobooboboo

00030000 uudoouooooooooooooooooBurkOoDooooO
O0Yull-WalkerO OO O OO Ohouseholde DO 0000000000 OOO

oool00ooooooooooooooooooooon

X1, %e—2, %3, -, %n 0000000000000 (X)OOOO
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000000000 (yOoOOoOooOOoODOoOOOOOOOODOOODDOOOOOODO

goood
%DDDDDD X00O00OO0O00O0000000000000000000000
ooooog | Y, %-o0, %1, Xt-2, Xt-3
00 120
NRYy
Inefix\) 0000000 X0 0O
1 3.4 pgooooooooooooon
2 5.5 .52, 1.1 >34\82 000 Box<) O lnfix(\) 0 0 O
3 7.7 Y | % %es Xes Open(¢ 00O
4 10.2 3.4 0 0 0 X-1, %-2, %3 00000000
5 8.5 55 | 34 0 0 OO0000 Rotat€l.’1) OO O O
6 7.6 R YOOOOOOoOoooo0000
7 10.1 1031 77 55 34 00D000000000000
8 11.5 65 | 102 77 55 000 100000000000
9 6.9 76 85 102 77 go0oooooooooon
102 101| 7.6 85 102 3 >:i.5
""" 115|101 76 85 e
zz ig; 69 | 115 101 76 112323 4[3 45|
2 | 69 115 101 N
>3<\ >:i.5
107|102 88 72 L2 3
108|107 102 88 234
345
[. "1>3<\ >:i.5
321
432
543
00D00D0000000000
pgooooooooooooon
ooo
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025 0000000000

AIC
Mil = -2~ l0gQe/(n - k)
NC:—ZQMLL+2xk=(n—@xﬂow}Kn—M)+2xk
AICO0O000O0O0O0O0OO0O kDOooOOoOoOooOoog

3 ar_exam T



24 0DO0O0O0DOOO AR

37

B T T TR +
|mean=6.904

e +
|R"2=0.564681 I
A +
|AIC=41.7886 |
o +
|reg=1.00576 _0.525087 0.122851 0.244503 _0.21142|
o +

4 linefit_ar T

pd ’eps temp\ar_0.eps’

241 0O0O0O0O

000 |cdot | reg0

aoo
reg.examad reg0 regexamad 2 3 1{"1 e0
reg.estimad
linefit_reg rego linefitreg 2 3 1{"1 e0

ooooo polyl
poly_exam 4 poly_exam s20
poly_estm 4 poly_estm s2
linefit_poly 4 linefit_poly s2

oooo ar0
arexam 4 arexam s20
ar.estm 4 arestm s2
linefit_ar 4 linefitar s2

oooo gaussj using numeric.ijs




